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SA:

=EE

el

3,000

3,000

(2 &)

202 01 H 0
01 2ol 3,000 3,000 0
OB EAMK 7= L BAXE 3,000
DR NEUNS 9IS AU 276,200 264,200 12,000
201 LEr2 Y| 15,000 12,000 3,000
01 AL 22| 15,000 12,000 3,000
OLUABBAY AW U539 2 7,000
OBBAY - B8 L SHXS AR 8,000
202 01| 130,000 118,200 11,800
01 2ol 30,000 28,200 1,800
OO XEUHES 9B ABAS =7 30,000
03 22/ 201l 100,000 90,000 10,000
oS BE - OIHE ¥ 2HYR o 100,000
203 YR EX K| 85,000 65,000 20,000
SEELEEEST 85,000 65,000 20,000
oz FE 45,000
o2sts Az 23t 20,000
OLRME MY XD 20,000
204 NRLBAL| 46,200 69,000 £22,800
03 EHALRAY| 46,200 69,000 222,800
S IIEEE 50,0002 +77 2 128 46,200
HUNESS S5 HBHISH AIY XIR(2D) 298,571 271,429 27,142
Il 275,000
= 23,571
308 XX SHHI SOl & 298,571 271,429 27,142
v 275,000
= 23,571
01 X SHRBNEES 208,571 271,429 27,142
OFANES B GIHUISHAIY X 298,571
Il 275,000
[ 23,571
BN EXRX XL 25,000 44,850 A 19,850
BBANL RIS 5X 25,000 44,850 A 19,850
201 Q2| 10,000 30,000 220,000
01 At 22l 10,000 5,000 5,000
OSXRX ALEX 10,000
202 Of H 15,000 14,850 150
01 U0l 15,000 14,850 150
OBBALRZ Y2FZ 15,000
2BWLAY EX 33,671,300 33,781,100 £109,800
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=52

SHZEAL
2 AL (A2 /2F)
HFNEMY =

o
40
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25,715,000
-3 7,956,300

22X ML (2D) 5,841,900 9,791,000 £3,949,100
z 4,563,000
< 1,278,900

403 XHXIEH I S RH2OI & 5,841,900 9,789,000 23,947,100
z 4,563,000
= 1,278,900

01 RXISH K= L E 5,841,900 9,789,000 23,947,100
OZEX He 5,841,900
z 4,563,000
= 1,278,900

BETY SMFBY FH(2D) 3,991,000 4,292,000 £301,000
= 3,070,000
< 921,000

403 XHXI M S XHROI 3,991,000 4,290,000 299,000
z 3,070,000
-3 921,000

01 RXISHK =L E 3,991,000 4,290,000 299,000
OBSTY =MFAL =4 3,991,000
= 3,070,000
= 921,000

SoHor 2 2IML(3D) 8,635,900 3,867,500 4,768,400
= 6,643,000
< 1,992,900

403 X+ M SXHROI 8,635,900 3,867,500 4,768,400
= 6,643,000
< 1,992,900

01 RXISHX=ZEE 8,635,900 3,867,500 4,768,400
OSHOIH FABBIMY 8,635,900
z 6,643,000
= 1,992,900

SN Hg(22) 9,457,500 11,677,000 £2,219,500
z 7,275,000
= 2,182,500

403 XHXI EHI S KH=0I & 9,457,500 11,674,000 22,216,500
z 7,275,000
< 2,182,500

01 RXISHH 22 E 9,457,500 11,674,000 22,216,500
OSBRI N 9,457,500
z 7,275,000
[ 2,182,500

WEM MBS SYAUN L5 HAAY(ZD) 1,468,000 0 1,468,000
Z 874,000
= 594,000

403 XHXI B SRH2OI & 1,468,000 0 1,468,000
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SA:
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=Sk

874,000

(el @e)

_T'él'

< 504,000

01 RXISHAX =2 % 520,000 0 520,000
OWSHZ MES BEYAN XL =4 520,000
= 400,000
< 120,000

02 BJ12+S Ofl CHBHCH B AHRS b 948,000 0 948,000
OWSHZ MBS HFYAUN 243 AHAY 948,000
= 474,000
= 474,000

MEp=MPER I (2D) 2,977,000 4,073,600 21,096,600
z 2,290,000
< 687,000

403 XXM SKH=0l & 2,977,000 4,071,600 £1,094,600
= 2,290,000
= 687,000

01 IXISHAEEE 2,977,000 4,071,600 21,094,600
OMEN=MZT g 2,977,000
= 2,290,000
= 687,000

SRS ZABZINL (D) 1,300,000 0 1,300,000
= 1,000,000
= 300,000

403 XIS HS K20l R 1,300,000 0 1,300,000
z 1,000,000
] 300,000

01 RXISHR=EE 1,300,000 0 1,300,000
OERUSR ZY 2B 1,300,000
z 1,000,000
] 300,000

SH5E BB g 4,020,000 6,281,000 £2,261,000
p] 2,800,000
] 1,220,000

I0DIATLY E4(21) 1,300,000 0 1,300,000
p 1,000,000
= 300,000

403 XXM S K0l & 1,300,000 0 1,300,000
p 1,000,000
= 300,000

01 RXISAX =L E 1,300,000 0 1,300,000
O=0IoIIALE X4 1,300,000
b 1,000,000
= 300,000

MEIBE SEAY(2D) 400,000 400,000 0
pJ 400,000
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308 AXIEHHSOI ™ 400,000 400,000 0
2l 400,000
0Ol IXHHBHEES 400,000 400,000 0
OHME 22 2EAY K& 400,000
2l 400,000
HdE2 |REIY 2FL4EEH(21) 1,170,000 1,000,000 170,000
Il 900, 000
< 270,000
403 XXl EtH S X201 & 1,170,000 1,000,000 170,000
Jl 900,000
S 270,000
01 HXIESMASER 1,170,000 1,000,000 170,000
OZEHM HHEZ &8 22ZTAS X3 1,170,000
2l 900,000
= 270,000
272 2ZTE g 500,000 0 500,000
403 XX EtM S X201 & 500,000 0 500,000
01 XM= EX 500,000 0 500,000
oA 2HZXE HY 500,000
HESSHE X (=12) 650,000 0 650,000
Il 500,000
=S 150,000
403 Xt XIEtX S =0l 650,000 0 650,000
pl 500,000
= 150,000
01 IXSHHA=2ER 650,000 0 650,000
O2UA HABHOIE =4 650,000
2l 500,000
< 150,000
22X ZHl ¥ &gl 520,000 805,800 285,800
2ZAANE FH & 22l 420,000 675,800 A255,800
201 er29d] 5,000 3,300 1,700
01 AR2telH| 5,000 3,300 1,700
OB NLSIISHIIAEMARARS 2 5,000
202 OfHl 15,000 2,500 12,500
01t SOOI 15,000 2,500 12,500
o=ZBMLANY BEEZ ¥ &2 15,000
307 2iztol A 70,000 70,000 0
05 QIZtRE S 70,000 70,000 0
OFEHIHI 2 gL 70,000
308 XXM S0I™ 150,000 0 150,000
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150,000

01 AXEHBSEES 150,000 0
OZA Y=g 2y 2| 2 150,000
403 X HHEX=01H 180,000 600,000 £420,000
01 AXIEHMA=2EE 180,000 600,000 420,000
oUWELH 2N & L3 180,000
BZ23E 22 100,000 130,000 £.30,000
308 AXIHHMSOIA 100,000 100,000 0
02 8+uE=s 100,000 100,000 0
CEZZSE UEE FLuE= 100,000
SOAY =& 25,000 503,000 A478,000
SOHALY =& 25,000 503,000 £478,000
201 ZEt2HH| 10,000 0 10,000
01 AtR&tell 10,000 0 10,000
O oAMY 3l Iz HAE S 10,000
202 Ol 15,000 3,000 12,000
01 = LHOIHI 15,000 3,000 12,000
OEoMNY =M S % HIXI0E S 15,000
BE2APU(2ZF D) (OIEHIIE) 278,800 375,730 A96,930
olg 23| 175,200 262,500 287,300
SRY odd X 175,200 262,500 287,300
204 AP 4=HAH| 175,200 262,500 287,300
02 Zg=2 x| 175,200 262,500 287,300
o3= 500,000 »1E *12& 6,000
0©4= 400,000 »4F *12E 19,200
o5= 250,000 <158 128 45,000
062 155,000 <26 & * 122 48,360
or= 140,000& «24E 128 40,320
©8-9= 105,000 «10F 122 12,600
O A 155,000 2« 12& 3,720
JlE2&Hl 103,600 113,230 29,630
fA29 J123tl 103,600 113,230 29,630
201 B2 HH| 43,000 41,350 1,650
01 AR 22| 41,000 39,350 1,650
ORN2ZE AR22lH| 41,000
02 3324l 2,000 2,000 0
ORAN2Y 3324l 2,000
202 Ol 15,000 12,480 2,520
01 IO 15,000 12,480 2,520
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A BEEHY
M WHSAAL (LFZUD)(JIEHIIEH
erel: J|=2 Y|

(el &)

15,000

CEVEEIENTT
203 PR =] 21,600 27,000 25,400
01 J| 22 YRS Y| 6,000 6,000 0
o= 6,000
04 RASYYLF T 15,600 21,000 25,400
©302! 0|5 350,000 *37H Dt +122 12,600
©152! 0|3t 250,000 *17H Dk+122 3,000
204 P2 AH| 24,000 32,400 8,400
NEEEEEE S CL 24,000 32,400 £8,400
o0=3 60000021 %124 » 122 7,200
onz 350, 0002 *42 #1284 16,800
HRSS(HTYUDL)(SHUDZ/BT) 1,082,329 1,145,939 163,610
2HXE 1,082,329 1,145,939 263,610
SHBBIHSHE FHZ A 1,082,329 1,145,939 £63,610
311 XU DOI KAk & 82,329 145,939 263,610
06 JIEFXHES SO KF &t & 82,329 145,939 263,610
©'99 ZHZAY 82,329
601 YA AS 1,000,000 1,000,000 0
VBEENEEEEERE 1,000,000 1,000,000 0
©'99 ZHBAE 1,000,000

-295-





